HSA REVIEW- Ecology
Key Terms

Abioitic


Biotic

Diversity

Succession

Niche

Producer Consumer
             Herbivore
parasite-hoste

Omnivore

Scavenger          Decomposer


Predator-Prey

Commensalism
  Carnivore


Mutualism

Competition
Definitions (Match the definition with the correct term)

· ____________  everything an organism does

· ________________ organism that makes its own food

· ________________ organisms that are fighting for resources or food

· ________________ non-living factors

· ________________ having many different species in an environment

· ________________ relationship where one is benefiting and the other is unaffected

· ________________ relationship where one organism eats the other

· ________________ relationship where both organisms benefit

· ________________ an organism that cannot make its own food and must feed off of something else

· ________________ an organism that breaks down dead plants or animals

· ________________ organism that eats plants

· ________________ organisms that eats dead organisms

· ________________ the step by step regrowth of an area

· ________________ relationship where one benefits and the other is harmed

· ________________ organism that eats animals

· ________________ organisms that eats both plants and animals

· ________________ living factors
REVIEW QUESTIONS
The water quality of the Chesapeake Bay is measured by the Chesapeake Bay Water Quality Monitoring Program. Scientists measure the salinity, temperature, pH, and oxygen levels to help determine the health of the Bay. Healthy water also contains appropriate amounts of nutrients. Monitoring water quality helps communities make decisions about the Bay.

Which of these would likely be the most immediate result if oxygen levels in the Bay decreased by 90%?

A decrease in fish populations

B decrease in salinity levels

C increase in producer populations

D increase in water temperature
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Global warming causes an increase in coastal water temperatures. Increased coastal water temperature causes a decrease in reproduction of krill. Which of these would most likely experience an increase in population?

A gull

B herring

C anchovy
D phytoplankton

Many bird species in the forests of eastern North America have very large geographic ranges. Bird species in tropical forests have very small geographic ranges. Many forest areas within the ranges of these birds are being destroyed. Scientists believe that the destruction of forests affects birds with small ranges more than birds with large ranges.

Which of these is an abiotic factor in both North American and tropical forest ecosystems?

A age of trees

B intensity of light

C number of consumers
D number of producers

Scientists determined that excess fertilizer from farms entered a shallow lake. The fertilizer caused an increase in aquatic plants in the lake and then a decrease in oxygen in the water. Next, organic debris collected on the bottom of the lake. Over several years, the lake gradually filled in with organic sediment.

As the fertilizer levels increased, the population of consumers in the lake declined. Which change most likely caused this decline?

A increase in light intensity

B decrease in available oxygen

C increase in temperature


D decrease in carbon dioxide

A new species is introduced into an area. This can have harmful effects on species already inhabiting the area. The harmful effects are most likely a result of

A succession


B mutualism

C competition


D commensalism

Some marshes and swamps eventually become homes to communities that include mature trees. What is this process called?

A commensalism


B homeostasis

C mutualism


D succession

The populations of wolves and other large predators have decreased throughout the United States. This disruption of the natural food web will most likely lead to

A a decrease in prey animals

B an increase in producers

C the overpopulation of prey animals
D the overpopulation of scavengers

A scientist wanted to find out if low numbers of fish found in a nearby lake were related to acid rain. During his three-year study, he analyzed rainwater and lake water samples. By gathering samples of fish, he estimated the number of fish in the lake.

Each year he found that both the rainwater and lake water became more acidic, and the number of fish decreased. His data suggested that acid rain may be responsible for the decrease in the number of fish found in the lake. The lake ecosystem includes frogs, freshwater algae, and inorganic sediment. 
Which of these is an abiotic factor contained within the lake ecosystem?

A frogs

B algae

C fish

D sediment

What most likely led to the rainwater’s increasing acidity?

A ultraviolet radiation

B sedimentation

C burning fossil fuels

D global warming

An insecticide is a chemical that kills insects. Most insects are killed the first time they are exposed to an insecticide. However, some insects carry a gene that enables them to survive their first exposure to an insecticide. When these surviving insects reproduce, this gene may be inherited by their offspring. The number of insecticide-resistant insects usually increases over time because increasing numbers of offspring with this gene are able to survive and reproduce.

What is the ecological relationship between insects and crops?

A mutualism

B competition

C predation

D commensalism

An increase in the use of fossil fuels has increased the amount of sulfur compounds in Earth’s atmosphere. Which of these is a direct result of the increased amount of sulfur in the atmosphere?

A an increase in acid rain

B an increase in severe storms

C an increase in global warming
D an increase in the rate of ozone depletion
